Name:

Ihdependent Practice #1-8

Tell whether each equation has one solution, no solution, or an infinite number

of solutions. Justify your answer.

02:{—3=—2[%—x]
e3x+5=2x—?

© o056x-3)=3(1+x

o%{?x—21]=8x+?x—24

_ o341
Q? 0.75x = ?[za""H;

(11) ”;3 = 0.25x — 0.75

Challenge

)

N
@ MWJDWW Look at this “proof” that 2 = 0.

Whena= Tand b= 1, then
(a-b)(a+b)=0
a+b=0 Dividebothsidesbya- b.
1+1=0 Substituteforaandb.
2=0 Simplify.

92x+5=—4[%—x]

O s5y+ 66—y =86+4y

O 2182 - 7) + 40 = 3(4 + 24a)

(3 ) %[12:{ —18) = E[x —%]

What is wrong with this proof? How can a true statement lead to an inconsistent equation?
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Name: Ihdependent Practice #1-8

Tell whether each equation has one solution, no solution, or an infinite number
of solutions. Justify your answer. o —@ See margin for reasonings.

© 2-3-= —2(%— x] Infinite solutions @ 2x+5= —4(% - x] One solution, x = 5.5
€ 3<+5=2x-7 One solution, x = =12 @ sy + (86 - y) = 86 + 4y Infinite solutions

© 056x-3 =301+ No solution O 4182-7) + 40 = 344 + 24a) Infinite solutions

@ %(7::— 21) = 8x + 7x— 24 One solution, @ %(‘IZx— 18) = 2[;: —%J Infinite solutions
x=1.5

3 : 1 :
© 7-075x= -7[? + 1] No solution () 6 +05y= -2[3 —Ey] No solution

D= > = 0.25¢= 075 Infinite solutions ) ~x+5 = %{2}( - 5] No solution
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@ Maith Jouwrnal Look at this "proof” that 2 = 0.

Whena= Tand b= 1, then
(a-b)(a+Pb)=0
a+b=0 Dividebothsidesbya- b.
1+1=0 Substitutefor aand b.
2=0 Simplify.

What is wrong with this proof? How can a true statement lead to an inconsistent equation?
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